
PHYSICAL SCIENCE                                                     SET-2                                                                CLASS-10 

- 2 

 - 4, 5 
Name:…………………………….……….. Section:………… Roll No:………....             Max.Marks:20 
…………………………………………………………………………………………………………………….. 
I.            2 x 4 = 8  
1) 

2) 
II. 2 x 2 = 4  
3) 
4) 

   
 1.44 1.33 

 (i) 
 (ii)  

III.  2 x 1 = 2  
5)  
6)  
IV.  6 x 1 = 6  
7) PH               [  ] 

    A. 5.5  B. 5.5  C. 5.5  D.  
8) HCl  [  ] 

    A.      B.    C.       D.  
9)           [  ] 

    A. CaCO3  B. Na2CO3  C. NaHCO3  D. Ca(HCO3)2 
10) m/s     [  ] 

      A. 2 x 108           B. 3 x 108        C. 2.5 x 108            D. 3 x 107 
11)        [  ] 
    A. n1. Sin i  = n2. Sin r   B. n1. Sin r  = n2. Sin i   
    C. n1 / Sin i  = n2 / Sin r   D. n1. Sin i  = n2 / Sin r 
12) = ………………………       [  ] 
    A. 10-8           B. 108         C. 10-6            D. 106 
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